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You have four choices for each objective type question as A, B,

WAl JLEsD s C B A el Ll
-Ifm;w.r‘i.ru()gﬂa/:‘tfl-& Jok ! L/,Z’(wﬂjuyc'

C and D. The choice which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use Q'N°'1
marker or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question.
D g B A Questions / =iy SrNo.
Electrical mail | Electronic mail Electronic Electronic | E-mail stands for : 1
Jo R J6 A medium message N S Sy
5 4 3 2 TCP/IP model has layers. 2
“UpA S TCPIP
______means making illegal and 3
Browsing Right Privacy Piracy unauthorized copies of the software
Ll AL Srly uf'./fg without owner's permission.
NS IO Va5 L (e
Ly gt i
Description Encryption Key of that Password Some companies sell software with a 4
e J/K,j? software SnUt confidential text, called the
& Srsil &qr&/:,é,)a’véu’;_aff/’:u)wtf;&f
Ny -
How many types of tags are there in 5
6 4 3 2 HTML document?
o Zn L AE Al HTNL
There are headings in HTML 6
6 5 4 1 document.
e il e B HTML
Strategized Candid solution Prepared Best solution | Which solution is not ‘reached through 4
solution J’b‘rf solution S A proper algorithm planning?
Sy Sep o oWl e G Al o
How many W's are necessary to 8
5 2 3 6 understand a problem?
S ks Ld L ]
16 2 10 8 Decimal number system has total 1 @
digits. - dslel SRS
(1024)7 '(1024)° (1024)4 (1024)3 | Petabyte is equal to ____ bytes. 10
_‘¢L"n/.'/.£u’.”/§ _‘JQLZ;
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NOTE: Write same question number and its partsiumber on answer book, as given in the question paper. -?m‘;;,{ﬂgw’,zé buf.;JZn’/:U’r’d"{QmLﬁ o

SECTION-l sle

2. Attempt any four parts. 08=2x4 -g{//’ul.li[.lii/lca.éf 240y
(i) Write the characteristics of well defined probiem. S feker® 112701 ol 0]
(i) How can you understand a problem? ?wéaﬁf_—rﬁ’/v&'»{' (i)
(i) | Draw flowchart symbols of "Processing” and "Input/Output”. -u.f,lkow‘.wguﬁu “ T Nl B (D)
(iv) Write disadvantages of flow chart. -J_/f/ f&tuﬁéb‘a/{‘?}f’ (iv)
(v)  |Define HTML. g/ @S HTML | )
(vi) | Write main sections in a webpage. (List only) (o) L///f»&’-(""éf“}uﬁ (vi)
3. Attempt any four parts. 08=2x4 -g{/iuu;’éiﬂ/(vc—éj 2350
0] Define volatile memory. -u/J/Jd//Jw” ()
(i) Give two examples of storage devices. -J_;u:’t"mu/ }*"3‘33-3 ffjrf (i)
(iii) What is AND Operator? ?;:.QC":/?;’ AND (iii)
(iv) [Convert (156), to binary number. ~Q/Jlfuf/kj¢f (156)49 | (V)
(v) |Define Encryption. w‘,{/f..él/‘jd/dﬂ,é?‘ )
(viy | Shortly describe Patent. ~ _q/ugi/"%’.uﬁv, (vi)
4. Attempt any four parts. 08=2x4 _;f-’,/;’:,;lz‘.f.rz M:c_(j;" a0y
()  |Define Protocol. NSy ANy )
(i) Define Multipoint connection with daily life example. - ~;{/~éf/‘7fgdl‘/d f,c;.,/)ud/uig.:jtg& (i)
(i) | What is meant by Web Server? Sl e sz | (i)
(iv) |Explain ISP. e ISP | (i)
(v)  |How do you use Hyperlink in Webpage? ?ugz",bﬁd“/h{?._ﬂ;’%@ﬁ/_: )
{vi) What is meant by unordered list in HTML? Y"c)yga,y.,,,}”];ui‘ HTML (vi)
SECTION-I} (s
NOTE: Attempt any two questions. 16=8x2 -égfa&'ﬁﬁglﬂn:c.éf oy
5. How do you determine the formulation of an algorithm? i’ugz-/ﬁ&;fﬁé, i -5
6. Explain the main components of a communication system. «ué_-,»u,&md;g.iﬁ/ﬁg}! -6
7. What is Cyber Crime? Explain its any three types. -L{/:)Q;J(bmufdéf&ﬂ ?g.bnl[ﬂ/@v =T
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You have four choices for each objective type question as A, B, C Gz it §L S S S st

& D AT Beasbz Ly g |

Adir

Edy, _____ﬂzfuﬁ/fk»&]

and D. The choice which you think is eorrect, fill that bubble in front of that question number, on bubble sheet. Q-NO-1
Use marker or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question.
b C B A QUESTIONS /ety Sr.No.
____is agraphical 1
Solution Flowchart Graph Matrix representation of
S sl =7 i an algorithm. )
-;./Qg¢64ﬂjugb/(d /yg/l____k
In flowchart, [ ] symbol 2
Process Decision Terminal Flow line is used to show a:
Jf S e S Juﬁ s ..'.'/U&J f u"b‘ulg)
-;,G/I/NJ
Hexa decimal number system 3
18 17 16 15 has total numbers.
wpled ST AL
Number (15),, is equal to 4
1100 1101 1110 1111 —— i binary system
3 £ i - ; 5 W
2 ; : 2 L (A e A
e (LA
Storage Source Header Receiver Sender is also called _______ . 5
& J e oﬁUUr’: -J?f;'{f ol ez
Dynamic Host | Dynamite House Dynamic Host Data Hosting DHCP stands for 6
Configuration Converter Computer Computer -«.i#¢¥ ___ DHCP
Protocol protocol Protocol Protocol )
To keep data correct is 7
Key Patent Encryption Integrity called:
L( 37 S8 A -4‘“,(70«,( e esndts
Similar domain IT reminder Email account Official data Which is not the 8
i of actual website diook dar update breach notification | characteristic of phishing
Ao s | Smandegr, | omel? ’
£ ?§_ﬂQiJdel,6‘)dgf
The _ elementis 9
<html> <title> <head> <body> container for meta data.
_cL-L“ MeSeeoxie
Attributes Both A and B Text Image A hyperlink can be applied to 10
Ty Bl A (s Sl e —_—
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NOTE: Write same question number and its part number on answer book, as given in the question paper.
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SECTION-l Jsle

2. Attempt any four parts. 08=2x4 ..g‘,g_/;au:’.é!‘z!/l;a—éf 240y
()  |Define valid test data. I fleden | )
(i) Explain the process of validation. _q/yu;&)jéﬁgy (i)
(i) |Whatis meant by "Actit Out'? Cespe “wsieisd)” | i)
(iv) |Explain candid solution. _Lg/yu,&ﬂ/s};f (iv)
(v) | What is meant by Un-ordered list? el e el ie- | V)
(vi)  |How an image is added on webpage? ";Jbé@cgf/ﬁ/@u: (vi)
3. Attempt any four parts. 08=2x4 -é/]’utlic‘:l]bbc,é:( 2340y
()  |Define OR Operator. JAw Sk 0RO )
(i) Explain proposition in your own words. «Qﬂ;‘&au‘fﬂw’%”/&@{’{ (i)
iii) What is meant by Non-volatile memory? ?i;:yga,dmffwuvt (iii)
(iv) Explain decimal number system. ..u_’fyunf(lﬁid;,wd/t‘/! (iv)
(v)  |Explain fraud and misuse. _Eeolss Sl | (V)
(vi)  |What is meant by copyright? S sl 2dE | (Vi)
4, Attempt any four parts., 08=2x4 -l,gfj’utlif.!ﬂ/gcéf YA
(i) Describe computer network. -u/ub/..,/sw/r (i)
(i) Which protocol is used by World Wide Web(WWW)? “c,dfdbwi (WWW) oo x? IquUfi:/J( (i)
(i) |write the difference between static and dynamic IP. _Q/qu/uy/;é P LE1S ot e | (i)
(iv) |Write the working of router. _Q/{f;f(b’é sl (V)
(v) |Write a tag to make text bold. «g{)}fuﬁé—éi—ﬂi}(&/ﬁ V)
(vi) |Define definition list and write its tag. g L F By S fE PG | i
SECTION-II (339
NOTE: Attempt any two questions. 16=8x2 2‘,: “:4 liﬁ.umr»c:_éf -
5. How do you determine the formulation of an algorithm? u:z“., fu"KJ@JK{JVI <5
6. Explain the understanding of 1P addressing. q/yu:fééﬂf..@/,gl 1P -6
7. Explain substitution cipher method with examples. _FEole WESUR LS K | T
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